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2H: BEAD
M SSATO SSHOI 2|
S HEBAIXOL EN (49 52)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 29,222
Al 196, 161
INE S AIXIDE EAL 70,032 194,170 A124,138
= 15,462
Al 54,570
201 L2 | 70,032 83,341 A 13,309
= 15,462
Al 54,570
01 At 22|l 70,032 83,341 13,309
OMESAIXIIL BE==+2 61,732
—MEXDIIE S 56,465
- J30|= 45,8002 * (48,0002 X|/42) 52,343
= 13,260
Al 39,083
=AZ 45,8002 *600E X1+0.5+0.3 4,122
= 1,030
Al 3,092
—ZJLHS 5,267
SJAME (23])
45,8002 100 XI%0.5+0.3 687
= 170
Al 517
o1oja1H (23])
45,8003 *2002 X1+0.5 4,580
= 1,002
Al 3,578
OMESAIXIDL ARtz QI
700,000& %53 3,500
ORSLINASARAAS 3o &FA&E
100,000 * 12 43| 4,800
INESAIKIIE ZAHROI) 63,519 0 63,519
= 4,586
Al 58,933
101 @124l 58,303 0 58,303
= 4,286
Al 54,017
M IIZtHZ220SE 58,303 0 58,303
ONESAIRDIb HREX JIZ2EN=22 A 214
] 44,174
=l 9,860 x4 +8BA| 2Hx22 2 x5 34,708
= 3,343
Al 31,365
—=F=E
9,860 x4 H+BA| 2++53=+5 7,888




2H: BEAD
3 FSNHFO X0 2|
2l IHESAIXIDE A (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 772
Al 7,116
— % x==g 9,800 x4 *8A| 2t+53 1,578
= 171
Al 1,407
OMNESAIXIL SREX JIIMZ 2Nt A&
2= 8,288
—JlEs 1,850 4 +BA| 2222 +5F 6,512
—z=gag
1,850 *4H+BA| 2t x5=+5F 1,480
— %X 1,850 x4 +8A| 2H+5E 2%
OMNESAIXIOL HREX N2 2 X 28
= 5.841
—=0d= 52,462,000& 4. 5% 2,361
—AYzH 52,462, 000%1+3.545% 1,860
— L OIE)| QYU
1,860,000 %12.81% 239
—1NEES 52,462,000 *1.75% 919
— & HEE 52,462 ,000& +0.87% 462
201 er2 3| 5,216 5,216
= 300
Al 4,916
01 AtR2t2|HI 5,216 5,216
OIMESAIXIL HETE 2l 1,455
—2g2 45,0003 210K 2 945
—XIJtEA 51,0002 *109H 2 510
OINESAIXIIE ZAF =& 3,041
—IHESAXIL EL22 M=
16,0003 x21JH 2 %42 1,344
—IHESAIXDL SEE=H Rl 1,697
- E2H X 99,0002 *3&t At 297
- 228 23 140,000 = 10H 1,400
OMNESAIXIIL ZA 2 HEZH|
60,0002 x 18 * 122 720
= 300
Al 420
IHEZBAIRIOE ZAH(AAL) 46,054 46,054
= 4,587
Al 41,467
101 @124H| 43,727 43,721
= 4,287
Al 39,440
MU IIRINZZE2NSES 43,727 43,727




2N 2S&t
N REpEE 8N B2
Sl WESAITIE A (49 52)
SA - B S (BIH) - HISAY - Ofl by G o MimE=EY
OMEZATIF 22% JHH22 A 012
u 33,131
=23 9,860 *3H *x8A| 2Hx22 2 x5E 26,031
= 3,344
Al 22,687
—Fgag
9,860 *3H *BA| 2H+5F= x5 5,916
= 772
Al 5,144
—AXE=S 9,800 *3H *BA| 2tx5E 1,184
= 171
Al 1,013
OMEZ2AIXIIF YRLEX D222 X AME
o= 6,216
=23 1,850 *3H *BA| 2H+22 L x5 4,884
—E=gag
1,850& *3H *8A| 2H+5F=+5E 1,110
—AX=S 1,850 x3H *8A| 2H5E 222
OMEZ2AIXIDF HREX JI2HH22A BEE
2 4,380
—=01=2 39,347,000 *4. 5% 1,771
—HLEE 39,347,000 *3.545% 1,395
—LOIAD) | RUEH
1,395,000& *12.81% 179
-89 s 39,347,000& *1.75% 689
— A2 E 39,347,0002 *0.87%% 346
201 LBt AH| 2,327 2,327
= 300
Al 2,027
01 AtR2t2lbl 2,327 2,327
OQIMEZAIXIDE HMAXIES 1M 903
—gas 45 0002 * 1101 A 495
—KIJFEA 51,000& *8IH 2~ 408
OIMEZAIXIIE EAF =& 704
—JHEZ2AIXII EES H&H
16,000 * 11 A #43] 704
OMEZ2AIXIF A 2 HAE A
60,0003 x1H*12& 720
= 300
Al 420
JHEZAIXIIE ZAHRE) 45,778 45,778
= 4 587
Al 41,191
101 2124d| 43,727 43,727
= 4,287




2H: BEAD
N REpEE 8N B2
2l IHESAIXIDE A (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 39,440
04 JIZtNZ22 XS 2+ 43,727 0 43,727
OMESAIXIL SLEX JIZHHMZ22 X 212
] 33,131
—JlEs 9,860 x3E+BA| 2H+x22 2 +5F 26,031
= 3,344
Al 22,687
—z=gag
9,800 x3E*BA| 2t x5=+5F 5,916
= 772
Al 5,144
— ¢ x==g 9,860 3 *BA| 2H6E 1,184
= 171
Al 1,013
OMNESAIXIL HREX JIZHHZ2 2 X A&
] 6,216
—Jl2= 1,850 +x3E #BA| 2H+22 L +5 4,84
=
1,850 x3E *BA| 2t +53=+5F 1,110
— ¢ x==g 1,800 *3E <8 Al 2H+5 222
ONESAIXIL HREX JI2tH2E2A BE
2 4,380
—201013 39,347, 00024 *4. 5% 1,771
A2 30,347, 00021%3.545% 1,39
— LI Qo
1,395,000 %12.81% 179
—UEEE 39,347,0002 *1.75% 689
—&HEE 39,347,000 %0.87%% 346
201 223 2,051 0 2,051
= 300
Al 1,751
01 At2t2lt] 2,051 0 2,051
OHNESAIXIL Hatktz Q1Y 819
—ZE7 45,0002 +8IH 2 360
—KIItEA 51,0002 904 A 459
OMESAIXIIE ZAF =& 512
—HESAIXDL 222 HA
16,0002 «8IH A +43] 512
OIESAIXIL ZAH 2 dH |
60,0008 x1&* 122 720
= 300
Al 420
CRHF=AMA A= 364,695 294,812 59,883
< 49
Al 354,196




SN RS
mE: SSAHYol 5BH0 AL
ol EREFAMA = EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CEHFA(HE, T2EE)2AL 291,225 232,825 58,400
101 @124H| 22,772 22,169 603
M ORNZZE2NSE S 22,772 22,169 603
OF2ZE2AIE A2 JI2ZtHIZ22 A oA
]l 17,671
—Jl=3 9,860 1 +BAI 22221+ 13,883
—FEay
9,860 x 1 *BA|2t+53=+8Z 3,156
— o x==g 9,800 x1&*8A| 2H+83 632
OFAZEAIE AR JI2tN22 A 4
) 3,316
—Jl2=s 1,850 x 12 +BA| 22224 +8E 2,605
—x=gag
1,850 x 1 +BA| 2t +53=+8E 592
— g x==g 1,850 x 1 +8A| 283 119
OFAFEAIE AR JI2tH22 4 28
=3 1,785
—=0l= 20,987,000 4. 5% 945
—2ZES 20,987,000 *3.545% 744
LoD RYEE 744,000 %12.81% %
201 er23| 33,282 22,487 10,795
01 AtR2t2|HI 32,800 21,800 11,000
O=23E oty s A&
2,000 *2,500HK 5,000
OFATE QT R 26,000
LR 1,60024+16, 2505 26,000
OFATLLANG L VYIS 5l Fals
g 100,000 x9& »23] 1,800
02 324l 482 687 A205
OADIEKAIS 2d= flet S4lbl
20,0703 =2t =122 482
203 HR=&H] 1,638 2,340 AT02
03 A=A R =AH] 1,638 2,340 AT02
O=2EH=4, IHESAXDIL, HLRE=s &
f=a 2,340,000&+0.7 1,638
308 AHAIEMSOIE 163,408 95,689 67,719
183 S| 2SO &HAEAIE 163,408 95,689 67,719
O=zg=F4 HEAMY 58,677
—Qldet &8 = 21,989,000 21,989
—CoIE Seh/dg 2=
17,015,000 17,015
—GISAHZE S/W KL=+ 2,518,000& 2,518
—=AF B2 AAE(KAIS) 2EX
17,155,000& 17,155




FSot
PSS SEHI 2L
CREFAMA 2= EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OF2dE ANI 2T LA
104,731,000& 104,731
401 AlEHIZ S 0HbI 70,125 87,500 A17,375
01 AlZH| 70,125 87,500 A17,375
OF2EEAE €1 & RAES
45,000,000 45,000
OFLZ2ANE(YHMFLE) MR
25,0002 *1,0057H 25,125
CE2HFA SHHAIE A EXIA 63,470 61,987 1,483
= 49
Al 62,971
308 AXIHS0IA 63,470 61,987 1,483
= 49
Al 62,971
18 SIS B 4 HASAIE 63,470 61,987 1,483
OFAZEAIE LA 61,806,000 61,806
OZJINEHS HIIAEH LHEA
92,4002 » 188 1,664
= 49
Al 1,165
HLas(fS4t) 3,000 3,000 0
SHXE 3,000 3,000 0
gret=JIE 3,000 3,000 0
802 gtetsJIEt 3,000 3,000 0
03 JIEIEtE =S 3,000 3,000 0
ONgREs DR =H
3,000,000& 3,000




